The group G is isomorphic to the group labelled by [ 32, 36 | in the Small Groups library.
Ordinary character table of G = C8 x C2 x C2:

la 8a 4a 8b 2a 8c 4b 8d 2b 8e 4c 8f 2c 8g 4d 8h 2d 81 de 8 2e 8k 4f 81 2f 8m 4g 8n 2g 8o 4h 8p
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 —1 1 -1 1 -1 1 -1 1 —1 1 —1 1 -1 1 -1 1 -1
X3 1 1 1 1 1 1 1 1 —1 -1 -1 -1 -1 —1 —1 -1 1 1 1 1 1 1 1 1 -1 -1 -1 -1 —1 -1 -1 —1
X4 1 -1 1 —1 1 —1 1 -1 —1 1 -1 1 -1 1 —1 1 1 -1 1 -1 1 -1 1 —1 -1 1 -1 1 —1 1 -1 1
X5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1
X6 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1
X7 1 1 1 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1 —1 -1 -1 -1 -1 —1 -1 -1 —1 1 1 1 1 1 1 1 1
X8 1 -1 1 -1 1 -1 1 -1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 1 -1 1 -1 1 -1 1 -1
xo |1 E@4) -1 —EW4) 1 EW4 -1 -E@4) 1 E@4) -1 -E@4) 1 E4 -1 -E@4) 1 E4) -1 -E4) 1 E4 -1 -E4) 1 E4) -1 —E@4) 1 E@) -1 —E4)
Xxo|l —-E(4) -1 EW4) 1 -E4 -1 E4) 1 -EBE(4) -1 E4 1 -E4 -1 E4) 1 -BE@4) -1 E4 1 —E4 -1 E4) 1 -B@4) -1 EA 1 —Ed4 -1  EA)
xul|l E@ -1 —E@4) 1 E@4 -1 -B(4) -1 -E@4) 1 E(4) -1 —E(4) 1 E(4) 1 EM4) -1 —E@4) 1 B4 -1 —EBE(A) -1 —-E@#) 1 E(4) -1 —E@ 1 E(4)
2|1 -BE@4) -1 E4 1 -E&4 -1 E4 -1 E4 1 -BE@) -1 E@4 1 -E@4 1 -E& -1 EBE@#) 1 -E4 -1 E@) -1 E4 1 -E@& -1 E& 1 -E@&
xs| 1 BE@) -1 -E(4) 1 E4) -1 -BE@) 1 E@4 -1 -E@4) 1 E@4 -1 -E@4) -1 -E4 1  BE@#) -1 -E@4) 1 E#) -1 -E4) 1 E@4) -1 -BE@) 1  E@4)
Xu|l -E@) -1 B4 1 -E@4) -1 B4 1 -BE@4) -1 EBE@4) 1 -B4) -1 E4) -1 E@) 1 —E@) -1 EB@) 1 —E(4) -1 E) 1 —B@4) -1 E@) 1 —E@)
xis| 1 E@) -1 —E@4) 1 EM4) -1 —EB(4) -1 —E@4) 1 E(4) -1 —E(®) 1 E(4) -1 —E@®) 1 E(4) -1 —E@®) 1 E4) 1 EM4 -1 —E4) 1 E@#) -1 —E@4)
6|1 —E(4) -1 EW) 1 —Ed4 -1 EA4) -1 E@) 1 —E(4) -1 E(@) 1 —E(4) -1 E®) 1 —E(4) -1 E(@) 1 —E@4) 1 -E@4) -1 E@4) 1 -E4 -1  E®@)
xir| 1 E@)  B@) E®B? -1 —E@8) -E@®) —E@®? 1 E@B) B4 E@B)?® -1 —E@S8) -E@4) —E@®8? 1 E@B) E@) E@B)?® -1 —E@8) -E@4) —E@®8? 1 E@B) EB@) E@B)?® -1 —E@8) -E@4) —BE@8)?
vis| 1 —E@®) E@4) -E@®?® -1 E®) -E@4) E®°* 1 -E@B E#) -E®° -1 E@B) -E@4) E@B°® 1 -EQ® E@) -ER®3 -1 E@8) -E@4 E@®° 1 -E®) E@) -EQP -1 EQ® -E@4) E®)
xo| 1 EQ®) EM4) E@®8?* -1 —-E®B) -E@4) -E®?® -1 —-E@B) -FE@4) —-E®® 1 E® E4) E®* 1 E® E@4) E®?* -1 —-EQ® -E4) -EQ®8? -1 -E®) —-E4) -EQ®3> 1 E@®8 FEM4) E@®)?
X0 |1 —-E®B EM4) -E®?® -1 E®B) —-EM4) E®8? -1 EQB8 -E@4) E®® 1 -EB8 FEM4) -E®* 1 -E®B E@4) -EQ®8?® -1 E®B -E4) E®3* -1 E® —-EM4) E@®? 1 -E® E4) -E@®)?
x| 1 E®)  E@) E®B?® -1 —E@8) —E@X) —E@®? 1 E®8) B4 E®B? -1 —E@8) -E@X) —E€8)? -1 —EB8) —E4) —E®8?® 1 E@8) E@A) E@8? -1 —ES) -E4) —E®?® 1 E@8) E@X) E@8)?
X2 | 1 —E@B) E@4) -E@S? -1 E@B) -E@®) E@S8? 1 —ES) E4) —ES? -1 EES) -E@4) E@S? -1 EB8) -E4) E@S?® 1 —E8) E@4) -E@8? -1 E@8) -BE4) E@S?® 1 -E8) E@4) -E@8)?
Ys| 1 E®) E@4) E@®? -1 -E@B8) -E@) -EQ®°® -1 -E@8) -E@4) -E@®° 1 E@B) E@4) E@B?® -1 -EQ -E@4) -ER®3 1 E@B) E@4) EQ®° 1 E@B E@) ER3 -1 -BE8) -E4) —E@®)?
vu| 1 —E@® E@4) -E®P -1 EQ®) -E@4) E@B°® -1 E® -E4) EQ®? 1 -EQ® E@4) -ER®?P -1 EQ®) —-E4) E@®° 1 -E®) E@A) -E®° 1 -EQ® E@4) -ER8?P -1 EQ®) —E@4) E@8)°
xes| 1 EQ®)?® —-E4) E@®8 -1 —-E®?® E4) -EQ® 1 FE®?® -FE@4) E® -1 —-E@®8?® E4) -E®B 1 E®?® -FEM4) FE® -1 —-EQ®?3 FE@4) -E8 1 E@®8? -—-E4) E®B -1 —-E®? EM4) -E®8)
Yo | 1 —E®)pP —E(@) —E®) -1 E@®° E@4) E® 1 -BE®® —E@4) -EBS) -1 E®?3 E@A) E®) 1 -E®°P —E@4) —E@®) -1 E®? E@) ES) 1 —EQB°® —E4) —E@B) -1 E@®? E@4) E@)
xor | 1 E(8)? —E@) EER) -1 —ERQ® EM4) -E@S) -1 —BE€8)? E@) —ES8) 1 EB? -—E&4) E@8) 1 E@8? -E4) ER -1 —ES?® E@4) —E@S) -1 —BE@8)? E@4) —ES8) 1 EB? —E@4) E8)
Yas | 1 —E®)p —E(#) -E®) -1 E@®° E@4) E® -1 E® E#) E® 1 -E®8?P —E@4) -E®8 1 -E®° —E@4) -E@®) -1 E®? E@) ES) -1 E®? E@4) EB8 1 -EQR° —E@4) —-E@)
x| 1 E(® -E#) E@® -1 -EQ®® E@4) -BE®) 1 ER3 -E@4) E® -1 -E®? E@) -EB) -1 —-E®°F E@) -EB 1 E®P -E@4 EB8) -1 -E@®?® E@4) -E@B8 1 E@®° -E@4) E@)
xs0| 1 —E®)® —-EM4) -E@B) -1 E®B)?® E4) E(@) 1 —-E®)? —-EM4) -EQ®B -1 E@®3 FEM4) EB -1 E®3 E4 E@®) 1 —-EQ®?® —-EM4) -EQB -1 E@®8)? E@4) E@®) 1 —-E®)3 —-EM4) -—E(@8)
Yo | 1 E@®P —E@) E@®) -1 —ER®P E@4) -BE®) -1 —E8)P E@#) -EB8) 1 E®R? —E@4) E®8) -1 —E®°P E@4) —E® 1 ER?P —E@4 EBS) 1 EQ®?P —E@4) E@B) -1 —E@8® E@4) —E(@8)
X2 | 1 —E(8)? —E(4) —E@®8) -1 E®B?® E@4) E@S) -1 E@8? E4) ES 1 —-ES? —E@X) —ES) -1 E@8? E4) ES 1 —ES8?® —E@4) —-E@S) 1 -EF8? —E4) —ES8) -1 E®8?® E@4) E8)
Trivial source character table of G = C8 x C2 x C2 at p = 2:
Normalisers IV; N1y | No | N3 | Ny | N5 | Ng | N7 | Ng | Ng | Nig | N11 | Ni2 | N1z | Nia | N15 | Nig | Ni7 | N1g | Nio Nog N3
p—subgroups of G up to conjugacy in G Pl P2 P3 P4 P5 P6 P7 PS Pg P10 P11 P12 P13 P14 P15 P16 P17 Plg P19 ng P31
Representatives n; € N; la la | 1la | la | la | 1la | 1la | 1la| la | 1la | 1la | 1la | 1la | la | la | la | la | la la la
1-xas+1-xo+1-x3+1-xa+1-xs5+1-x6+1-x7+1-xs+1-xo+1-x10+1-x11+1-x2+1-x3+1-xu+1-xi5+1-x6+1-x17+1-xis+1-x190+1-x0+1-Xxo1+1-x22+1-xa3+1-x2a+1-xo5+1-Xx6+1 Xor+1-xog+1-Xx9+1-x30+1-x31+1:x32]| 32 0/ 0]J0|J0]0]0
x1+1-x2+1-xs+1-xa+1-xs+1-x6+1-x7+1-xs+1-xo+1-x10+1-xu1+1-xi2+1-x13+1-xu+1-x15+1-x16+0-x17+0-x18+0-x19+0-X20+0-x21+0-x20+0-x23+0-x24+0-x25+0-X26+0-x27+0-x28+0-X29+0-x30+0-x31+0-x32 | 16 0]0]0]0|07]0
‘Xx1+1-x2+0-x3+0-x4a+0-x5+0-x¢+1-x7+1-xs+1-xo+1-x10+0-x11+0-x12+0-x13+0-x1a+1-x15+1-Xx16+0-x17+0-x18+1-Xx190+1-x20+1-x21+1-x22+0-x23+0-x24+0-x25+0-x26+1-xor+1-x8+1-X9+1-Xx30+0-x31+0-x32] 16 6/0]0)10]0 /0
Xx1+1-x2+0-x3+0-xa+0-x5+0-x6+1-x7+1-x8+1-x9+1-X10+0-x11+0-x12+0-x13+0-x1a+1-x15+1-x6+1-x17+1-x18+0-Xx190+0-x20+0-x21+0-x22+1-x23+1-Xx2a+1-x25+1-x26+0-x27+0-x28+0-%x20+0-x30+1-x31+1-x32] 16 6] 0] 0]01]0
‘x1+1l-x2+1-x3+1-xa+0-x5+0-x6+0-x7+0-xs+1-xo+1-x10+1-x11+1-x12+0-x13+0-X14+0-Xx15+0-Xx16+0-x17+0-x18+0-Xx10+0-x20+1-x21+1-x2+1-x23+1-Xx214+0-x25+0-x26+0-x27+0-x28+1-X90+1-Xx30+1-x31+1-x32] 16 16| 0| 0] 0
xat1l-xe+1-x3+1-xa+0-x5+0-x6+0-x7+0-xs+1-xo+1-x10+1-x11+1-x12+0-x13+0-x14+0-x15+0-xi6+1-xav+1-xis+1-x10+1-xa0+0-x21+0-x220+0-x23+0-x2a+1-xo5+1-Xxe6+1 Xxor+1-xos+0-x20+0-x30+0-x31+0-x32 | 16 1610 |0
Xx1+1l-x2+0-x3+0-xa+1-x5+1-x6+0-x7+0-xs+1-xo+1-x10+0-x11+0-x12+1-x13+1-X14a+0-x15+0-x16+1-x17+1-x18+0-Xx10+0-x20+1-x21+1-x22+0-x23+0-x24+1-Xx25+1-x26+0-x27+0-x28+1-X29+1-Xx30+0-x31+0-x32| 16 16 | 0
X1+l x24+0-x3+0-xa+1-x54+1-x6+0-x7+0-xs+1-xo+1-x10+0-x11+0-x12+1-x13+1-x14a+0-x15+0-x16 +0-x17+0-xas +1-x10+1-x20+0-x21+0-x22+1 x5+ 1 -Xx24+0-x25+0-Xx26+1-xor+1-X28+0-x20+0-x30+1-x31+1 x32]| 16 16

X1t+l-xo+1-xs+1-xa+0-x54+0-x6+0-x7+0-xs+1-xo+1-xi0+1-x11+1-x12+0-x13+0-x14+0-Xx15+0-x16 +0-Xx17+0-x18 +0- X190+ 0-x20 +0-x21 +0- X220 +0-x23 +0-Xx24 +0-x25 + 0- x26 +0-x27 + 0- X258 +0- x20 + 0-Xx30 +0- x31 +0-x32 | 8

X1+l x24+0-x3+0-xa+1-x5+1-x6+0-x7+0-xs+1-xo0+1-x10+0-x11+0-x12+1-x13+1-x14a+0-x15+0-x16 +0-x17+0-Xx18 +0-x10+0-x20+0-x21 +0-x22+0-x23+0-Xx24 +0-x25 + 0-X26 +0-x27 + 0- X258 + 0 x20 + 0~ x30 + 0 - x31 + 0 x32

Xx1+l-xo+1-xs+1-xa+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-xi2+1-xi3+1-x1a+1-x1i5+1-x16 +0-x17+0-Xx18 +0-Xx19+0-x20+0-x21 +0-x220+0-x23+0-Xx24 +0-x25 +0-Xx26 +0-x27 +0- X258 +0- x20 +0- x30 +0- x31 +0- x32

X1+ 1-x24+0-x3+0-xa+1-xs5+1-x6+0-x7+0-x8+0-x0+0-x10+1-x11+1-x12+0-x134+0-x1a+1-x15+1-x16 +0-x17+0-x18 +0-Xx10+0-x20+0-x21 +0-x220+0-x23+0-Xx24+0-x25 +0-Xx26+0-x27r +0-Xx28+0-x20+0-Xx30+0-x31 +0-x32

X1+1-xo4+0-x3+0-xa+0-x5+0-x6 +1-x7+1-xs+1-x0+1-x10+0-Xx11+0-x12+0-x13+0-x1a+1-x15+1-x16 +0-X17+0-Xx18 +0-x190+0-x20 +0-x21 +0-x20+0-x23 +0-Xx24 +0-x25 +0- X26 +0- x27 + 0- X258 +0- x20 + 0 - x30 +0- x31 +0- x32

‘x1+1l-xa2+1-x3+1-xa+1-x5+1-x¢+1-x7+1-x8+0-x0+0-Xx10+0-x11+0-Xx12+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-X19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27 +0-x28+0-x29+0-x30+0-x31+0"x32

X1+1-xo4+0-x3+0-xa+0-x54+0-x6 +1-x7+1-xs+0-x0+0-x10+1-x11+1-xi2+1-x13+1-x14+0-Xx15+0-x16 +0-Xx17+0-Xx18 +0-x190+0-x20 +0-x21 +0- X220 +0-x23+0-Xx24 +0-x25 +0-X26 +0-x27 + 0- X258 +0- x20 + 0 - x30 +0- x31 +0- x32

X1+ 1-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-xg+1-xo+1-x10+0-x114+0-x12+0-Xx134+0-x14+0-x15+0-x16 +1-x17+1-x18 +0-x10+0-x20+0-x21 +0-x220+0-x23+0-x2a +1-x25 +1-Xx26+0-xo7r +0-Xx28+0-x20+0-Xx30+0-x31 +0-x32

X1+1-xo4+0-x3+0-xa+0-x54+0-x6+0-x7+0-xs+1-x9+1-x10+0-Xx11+0-x12+0-Xx134+0-x14+0-Xx15+0-x16 +0-x17+0-x18 +0-x10+0-x20+1-x21 +1-Xx20+0-x23+0-X24 +0-x25 +0-X26 +0-x2r +0-x28+1-x20 +1-Xx30+0-x31 +0-x32

X1+ 1-xo4+0-x3+0-xa+0-xs4+0-x6+0-x7+0-xg+1-xo+1-X10+0-x114+0-Xx12+0-x13+0-x14+0-x15+0-x16 +0-xa74+0-x18+1-Xx10+1-x20 +0-x21 +0-x22+0-x23+0-Xx24 +0-X25 +0-x26 +1-xor +1-xo8 +0-x20+0-x30+0-x31+0"x30

X1+1-x24+0-x3+0-xa+0-x54+0-x6+0-x7+0-xs+1-x0+1-x10+0-Xx11+0-x12+0-x134+0-x14+0-Xx15+0-x16 +0-Xx17+0-Xx18 +0- X190+ 0-x20 +0-x21 +0-x220+1-x23+1-Xx24 +0-x25 +0-X26 +0-x27 +0- X258 +0- x20 + 0-x30 +1- x31 +1-x32

X1+0-xo+1-x34+0-xa+0-x5+1-x6+0-x7+1-x8+0-x04+0-x10+0-Xx114+0-x12+0-Xx134+0-x14+0-Xx15+0-x16 +0-x17+0-x18 + 0-x10+0-x20 +0-x21 +0-x220+0-x23+0-Xx24 +0-x25 +0-Xx26 +0-x27r +0-Xx28+0-x20 +0-Xx30+0-x31 +0-x32

X1 F+0-x24+0-x3+1-xa+1-x5+0-x6+0-x7+1-Xxs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-Xx16 +0-x17+0-x18 +0- X190+ 0-x20 +0-x21 +0-x22+0-Xx23+0-x24 +0-x25 +0- x26 + 0 - X27 + 0 - x28 + 0 - x20 +0- x30 + 0 - x31 + 0 x32

X1+1-xo4+1-x34+1-xa4+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-Xx13+0-Xx14+0-x15+0-x16 +0-x17+0-x18 +0- X190 +0-x20 + 0- x21 +0- x22+0-x23 +0- x24 +0- Xx25 +0- x26 + 0- x27 +0- x28 + 0 x29 +0- x30 +0- x31 + 0 x32

X1+l x24+0-x3+0-xa+1-x5+1-x6+0-x7+0-xs+0-x0+0-x10+0-Xx11+0-x12+0-x13+0-x14a+0-x15+0-x16 +0-x17+0-Xx18 +0-x10+0-x20+0-x21 +0-x22+0-x23+0-Xx24 +0-x25 + 0-X26 + 0 - x27 + 0- X258 + 0 x20 + 0 - x30 + 0 - x31 + 0 x32

X1+1-x24+0-x34+0-xa4+0-x5+0-x6+1-x7+1-xs+0-x0+0-x10+0-x11+0-x124+0-Xx13+0-Xx14+0-x15+0-x16 +0-x17+0-x18 +0- X190 +0-x20 +0-x21 +0- x22+0-x23 +0-X24 +0- Xx25 +0- x26 + 0- x27 +0- x28 + 0 x29 +0- x30 + 0 - x31 + 0 x32

X1+0-x2+1-xa3+0-xa+1-x54+0-x6+1-x7+0-xs+0-x0+0-x10+0-Xx11+0-x12+0-x134+0-x14+0-x15+0-x16 +0-x17+0-Xx18 +0-x10+0-x20+0-x21 +0- X220+ 0-x23+0-Xx24 +0-x25 + 0- X26 + 0 x27 + 0- X258 + 0 - x20 + 0~ x30 + 0 - x31 + 0 x32

X1 +0-xo4+0-x34+1-xa4+0-x5+1-x6+1-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-Xx14+0-x15+0-x16 +0-x17+0-x18 +0- X190 +0-x20 + 0-x21 +0-x22+0-x23 +0-Xx24 +0-Xx25 +0- x26 + 0- x27 +0- x28 + 0 x29 +0- x30 + 0 - x31 + 0 x32

X1 +1-x2+0-x34+0-xa+0-x5+0-x64+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x134+0-x1a+1-x15+1-x16+0-x174+0-x18+0-x19+0-x20+0-x21 +0-x220+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-%x20+0-x30+0-x31+0"Xx32

X1+1-x24+0-x34+0-x44+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+1-xu1+1-x124+0-x13+0-Xx14+0-x15+0-x16 +0-x17+0-x18 +0- X190 +0-x20 +0-x21 +0-x22+0-x23+0-x24 +0-Xx25 +0- x26 + 0- x27 +0- x28 +0- x29 +0- x30 + 0 - x31 + 0 x32

X1+1-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-xo0+1-x10+0-x11+0-x12+0-x134+0-x14+0-x15+0-x16 +0-x17+0-x18 +0-x10+0-Xx20 +0-x21 +0- X220+ 0-x23 + 0-Xx24 +0-x25 + 0- X26 + 0 x27 + 0- X258 + 0 x20 + 0~ x30 + 0 - x31 + 0 x32

X1+1-xo4+0-x3+0-xa+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-Xx11+0-x12+1-x13+1-x14a+0-Xx15+0-x16 +0-x17+0-Xx18 +0- X190+ 0-x20 +0-x21 +0- X220 +0-x23 +0-Xx24 +0-x25 + 0- x26 +0- x27 + 0- X258 +0- x20 + 0 - x30 + 0 - x31 +0- x32
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X1+0-x24+0-x34+0-x4+0-xs+0-x6+0-x7+1-x8+0-x04+0-x10+0-x114+0-x12+0-Xx134+0-x14+0-Xx15+0-x16 +0-x17+0-x18 + 0-x10+0-x20 +0-x21 +0-x220+0-x23+0-Xx24 +0-x25 +0-Xx26 +0-x27 +0-Xx28+0-x20 +0-Xx30+0-x31 +0- x32

X1+0-x2+1-x3+0-xa+0-x54+0-x6+0-x7+0-xs+0-x9+0-x10+0-Xx11+0-x12+0-Xx134+0-x14+0-Xx15+0-x16 +0-x17+0-Xx18 +0- X190+ 0-x20 +0-x21 +0- X220 +0-x23 +0-X24 +0-x25 + 0- X26 +0- x27 + 0- X258 +0- x20 + 0 - x30 +0- x31 +0- x32

X1+0-x24+0-x3+1-x4a4+0-xs+0-x6+0-x7+0-x8+0-x0+0-x10+0-x114+0-x12+0-Xx134+0-x14+0-Xx15+0-x16 +0-x17+0-x18 + 0-x10+0-x20 +0-x21 +0-x220+0-x23+0-Xx24 +0-x25 +0-Xx26 +0-x27 +0-Xx28+0-x20 +0-Xx30+0-x31 +0-x32

X1+0-x24+0-x3+0-xa+1-x54+0-x6+0-x7+0-xs+0-x9+0-x10+0-Xx11+0-x12+0-Xx134+0-x14+0-Xx15+0-x16 +0-x17+0-x18 +0- X190+ 0-x20 +0-x21 +0- X220 +0-x23 +0-X24 +0-x25 + 0- X26 +0- x27 + 0 - x28 + 0 - x20 + 0 - x30 +0- x31 +0- x32

X1 +0-xo4+0-x3+0-xa+0-xs+1-X6+0-x7+0-x8+0-X0+0-X10+0-Xx11+0-Xx12+0-x13+0-x14+0-x15+0-x16 +0-Xx17+0-Xx18 +0-Xx10 +0-x20 +0-x21 +0-x22+0-x23+0-Xx24 +0-X25 +0-x26 +0- xor +0-x28 +0-x20 +0-x30 +0-x31 +0- x32
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X1 +0-x24+0-x34+0-x44+0-x5+0-x6+0-x7+0-x8+0-x0+0-Xx10+0-x11+0-x124+0-Xx13+0-x14+0-x15+0-x16 +0-x17+0-x18 +0- X190 £ 0-x20 + 0- x21 +0-x22+0-x23 +0-x24 +0-Xx25 +0- x26 + 0- x27 +0- x28 + 0 x29 +0- x30 + 0 - x31 +0- x32
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Py = Group([()]) =1

P, = Group([(5,9)(6,10)(7,11)(8,12)]) = C2

P; = Group([(1,2)(3,4)(5,9)(6,10)(7,11)(8,12)]) = C2

Py = Group(((1,2)(3, 4))) = C2

Ps = Group([(1,2)(5,9)(6,10)(7,11)(8,12)]) = C2

Ps = Group([(1,2)]) = C2

P; = Group([(3,4)]) = C2

Py = Group([(3,4)(5,9)(6,10)(7,11)(8,12)]) = C2

Py = Group([(5,9)(6,10)(7,11)(8,12),(1,2)]) = C2 x C2

Pro = Group([(5,9)(6,10)(7,11)(8,12), (3,4)]) = C2 x C2

Py = Group([(5,9)(6,10)(7,11)(8,12), (1, 2)(5, 7,9, 11)(6,8, 10, 12)]) = C4

Pra = Group([(5,9)(6,10)(7, 11)(8, 12), (3,4)(5, 7,9, 11)(6, 8, 10, 12)]) = C4

Prs = Group([(5,9)(6,10)(7, 11)(8, 12), (1,2)(3,4)]) = C2 x C2

Pry = Group([(5,9)(6,10)(7,11)(8,12), (5, 7,9, 11)(6,8, 10, 12)]) = C4

Pis = Group([(5,9)(6, 10)(7, 11)(8, 12), (1, 2)(3,4)(5,7,9, 11)(6, 8, 10, 12)]) = C4

Pig = Group([(3,4),(1,2)]) =2 C2 x C2

Pi7 = Group([(3,4), (1,2)(5,9)(6,10)(7,11)(8,12)]) = C2 x C2

Pis = Group([(3,4)(5,9)(6,10)(7,11)(8,12),(1,2)]) = C2 x C2

Prg = Group([(3,4)(5,9)(6,10)(7, 11)(8, 12), (1,2)(5,9)(6, 10)(7, 11)(8, 12)]) = C2 x C2

Pao = Group([(5,9)(6,10)(7, 11)(8, 12), (5,7,9, 11)(6,8,10,12), (1, 2)(5,6,7, 8,9, 10, 11,12)]) = C8

Por = Group([(5,9)(6,10)(7,11)(8,12), (5, 7,9, 11)(6,8, 10, 12), (3,4)(5,6,7,8,9,10,11,12)]) = C8

Pay = Group([(5,9)(6,10)(7,11)(8,12), (5,7, 9, 11)(6, 8,10, 12), (1,2)]) = C4 x C2

Pas = Group([(5,9)(6,10)(7, 11)(8,12), (5,7, 9, 11)(6. 8,10, 12), (3,4)]) = C4 x C2

Poy = Group([(5,9)(6,10)(7, 11)(8,12), (5,7, 9, 11)(6, 8, 10, 12), (1,2)(3,4)]) = C4 x C2

Pos = Group([(5,9)(6,10)(7, 11)(8, 12), (5,7,9,11)(6,8, 10,12), (5,6,7,8,9,10, 11, 12)]) = C8

Pos = Group([(5,9)(6,10)(7,11)(8,12), (5, 7,9, 11)(6,8, 10, 12), (1, 2)(3,4)(5,6,7,8,9, 10, 11, 12)]) = C8
Por = Group([(5,9)(6, 10)(7, 11)(8,12), (3,4)(5, 7,9, 11)(6,8, 10, 12), (1,2)(5,7,9, 11)(6, 8, 10,12)]) = C4 x C2
Pys = Group([(5,9)(6,10)(7,11)(8,12), (3,4)(5,7,9,11)(6, 8,10, 12), (1,2)]) = C4 x C2

Py = Group([(5,9)(6,10)(7,11)(8,12), (3,4),(1,2)]) =2 C2 x C2 x C2

Py = Group([(5,9)(6,10)(7,11)(8,12), (3, 4), (1,2)(5,7,9,11)(6,8,10,12)]) = C4 x C2

Py = Group([(5,9)(6,10)(7,11)(8,12), (5, 7,9, 11)(6,8, 10, 12), (5,6, 7,8, 9, 10, 11,12), (1, 2)(3,4)]) = C8 x C2
Pys = Group([(5,9)(6,10)(7, 11)(8,12), (5, 7,9, 11)(6, 8, 10, 12), (3,4), (1,2)]) = C4 x C2 x C2

Py = Group([(5,9)(6,10)(7, 11)(8,12), (5,7, 9, 11)(6, 8, 10, 12), (3, 4)(5,6,7, 8,9, 10,11,12), (1, 2)(5,6,7,8,9, 10, 11,12)]) = C8 x C2
Py = Group([(5,9)(6,10)(7,11)(8,12), (5,7, 9, 11)(6, 8,10,12), (5,6, 7, 8,9, 10, 11,12), (1,2)]) = C8 x C2
Pys = Group([(5,9)(6,10)(7, 11)(8,12), (5, 7,9, 11)(6,8, 10,12), (3,4)(5,6,7,8,9,10, 11, 12), (1,2)]) = C8 x C2
Py = Group([(5,9)(6,10)(7,11)(8,12), (5, 7,9, 11)(6,8, 10, 12), (5,6, 7, 8,9, 10, 11,12), (3, 4)]) = C8 x C2
Pyr = Group([(5,9)(6,10)(7,11)(8,12), (5, 7,9, 11)(6, 8, 10, 12), (3,4), (1, 2)(5,6,7.8,9,10,11,12)]) = C8 x C2
Pss = Group([(5,9)(6,10)(7,11)(8,12), (5, 7,9, 11)(6,8, 10, 12), (5,6,7.8,9,10,11,12), (3,4), (1,2)]) = C8 x C2 x C2
Ny = Group([(1,2),(3,4),(5,6,7,8,9,10,11,12)]) =2 C8 x C2 x C2

Ny = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Ny = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Ny = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Ns = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Ne = Group([(1,2), (3,4), (5,6,7.8,9,10,11,12)]) = C8 x C2 x C2

N, = Group([(1,2),(3,4),(5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Ns = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x 2

Ny = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Nio = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = €8 x C2 x C2

Ny, = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = €8 x C2 x C2

Niz = Group([(1,2),(3,4),(5,6,7,8,9,10,11,12)]) =2 C8 x C2 x C2

Nis = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Nt = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Nis = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = €8 x C2 x C2

Nig = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Nir = Group([(1,2), (3,4), (5.6,7,8,9,10,11,12)]) & C8 x C2 x C2

Nis = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = €8 x C2 x C2

Nig = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Noo = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x €2 x C2

Noy = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = €8 x C2 x C2

Noo = Group([(1,2), (3,4), (5.6,7,8,9,10,11,12)]) & C8 x (2 x C2

Nos = Group([(1,2),(3,4),(5,6,7,8,9,10,11,12)]) =2 C8 x C2 x C2

Noy = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Nos = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Nog = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = €8 x C2 x C2

Noy = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Nos = Group([(1,2),(3,4),(5,6,7,8,9,10,11,12)]) =2 C8 x C2 x C2

Nog = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Nao = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Ny, = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = €8 x C2 x C2

Ny = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Nas = Group([(1,2), (3,4), (5.6,7,8,9,10,11,12)]) & C8 x C2 x C2

N34 = Group([(1,2),(3,4),(5,6,7,8,9,10,11,12)]) =2 C8 x C2 x C2

Nus = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Nas = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = C8 x C2 x C2

Ny7 = Group([(1,2), (3,4), (5,6,7,8,9,10,11,12)]) = €8 x C2 x C2

Nas = Group([(1,2), (3,4), (5.6,7,8,9,10,11,12)]) & C8 x C2 x C2



